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PHYSICS $8C-l
SECTION - A (iigrks 12)

Time allowed: 20 Minutes

NOTE:

Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not aliowed. Do not use ieasl pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part esrries one mark.

(i}

(vi)

(vii)

(viii)

(ix)

(x)

{xi)

{xii)

A digital stop watch can measure a time intervat upto a minimum:

A 0.1s B. 0.01s C.
Which one of the following is a scalar quantity?
A~ Volume B. Force C.
When a horse pulls a cart, the action is done on the:
A. Cart B. Earth C.
A body is in equilibrium when its:

A Acceleration is uniform B.
C. Acceleration is zero D.
Gravitational Field strength near earth is:

A 10Nkg™! B. 10°Nkg'! C.
Water running down a stream possess:

A Electrical energy B.
C. Heat Energy D.
Normal human body temperature is:

A. 37°F B. 37°C C.
Sl unit of Young's Modulus is same as that of:

A Elasticity B. Power C.
Rooms are heated using gas heaters by:

A Conduction only B.
C. Radiation only D.
False ceiiing is done to:

A. Lower the height of ceiling B.
C. Insulate the ceiling D.
An interval of 200us is equivalent to:

A. 2x107°s B. 2x107s C.

10s D ls
Torque D. Displacement
Horse D. Both Earth and Cart

Speed is uniform

Speed and acceleration both are uniform

10° Nkg ™' D. 10° Nkg™
Chemical energy

Mechanical energy

15°C D. 98.6°C
Strain D. Stress

Convectiononly
Both Convection and Radiation

Keep the roof clean
To support the roof

0.2s D. 0.02s

A car starts from rest. It acquires a speed of 25ms™' after 20s . The distance moved by the car during

this time is:

A. 250m B. 500m
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C. 750m D 5000m

—
Total Marks: |_ 12
Marks Obtained: i
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Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.c. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION-B {M 3

Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)

(i)
(ir)
(iif)

(i)

(xii)
(xiii)
(xiv)
(xv)

What is meant by Vernier Constant? Give its value,
How do prefixes micro and pico relate to each other?

A train starts from rest. It moves through a distance of 1472 in 100s with uniform acceleration. What will

be its speed at the end of 1005 ?

Prove that the rate of change in momentum of a body is equal to applied force.

When a gun is fired, it recoils, why?

Why is the height of vehicle's kept as low as possibie?

Differentiate stable and unstable equilibrium.

Briefly describe Global Positioning System.

The gravitational force between two identical lead spheres kept at 1m apartis 0.006673N . Find their
masses”?

A crate is moved by pulling the rope attached to it. it moves 10m on a straight horizontal road by a force

of 100N . How much work will be done if the rope is parallel to the road?
Briefly describe the plasma; the fourth state of matter. Give an example.
Why are gaps left in railway tracks?

Why does sea breeze blow during the day?

Why Styrofoam boxes are used to keep food hot for a longer duration?
How LIDAR gun is used to calculate the vehicle's speed?

SECTION-C (M 20
Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)

Discuss vertical motion of two bodies attached to the ends of a string that passes cver a frictionless

puliey and find Tension and Acceleration in the string. (05)
Briefly describe three main types of motion with examples. (03)
Write the following quantities in standard form: (02)
i 380,000km

. 0.00000058kg

Define kinetic energy and derive its relation. (1+4)
Explain the procedure of determination of a force from its perpendicular components. (05)
State and explain Archimedes principle. (05)
What is meant by evaporation? On what factors does the evaporation of a liquid depend? (05)
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